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 Notes : 1. All questions are compulsory. 

 2. All questions carry equal marks. 
 

    

1.  Define social problems. Discuss the causes of social problems. 

 

16 

  OR  

  Discuss the problems of scheduled castes. 

 

 

2.  State the meaning of old aged. Discuss the various problems of elderly people. 

 

16 

  OR  

  What is Unemployment. Explain the causes of unemployment. 

 

 

3.  Write short answer of the following any two. 
 

a) Characteristics of social problems. 
 

b) Causes of caste inequality. 
 

c) Causes of Dowry. 
 

d) Consequences of migration. 

 

16 

4.  Write short answer of the following any two. 
 

a) Concept of social problems. 
 

b) Problems of other Backward classes. 
 

c) Causes of Domestic violence. 
 

d) Causes of farmer’s suicide. 

 

16 

5.  Write very short notes on each of the following. 

a) Meaning of value conflict. 

b) Meaning of social disorganization. 

c) Definition of Caste. 

d) Meaning of Caste inequality. 

e) Meaning of Divorce. 

f) Meaning of Inter generational conflict. 

g) Meaning of Migration. 

h) Two consequences of unemployment. 

 

16 

  *********  
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 सुचना :- 1. सर्व प्रश्न अननर्ार्व आहेत. 
 2. सर्व प्रश्नाांना समान गुण आहेत. 

 

    

1.  सामाजिक समस्याची व्याख्या साांगा. सामाजिक समस्याांच्या कारणाांची चचाा करा. 
 

16 

  क िं वा  
  अनुसूचचत जातीच्र्ा समसर्ाांची चचाव करा. 

 
 

2.  र्धृ्दार्सथचेा अथव सपष्ट करा. र्धृ्दाांच्र्ा वर्वर्ध समसर्ाांची चचाव करा. 
 

16 

  क िं वा  
  बेरोजगारी म्हणजे कार्? बरेोजगारीचे कारणे सपष्ट करा. 

 
 

3.  खालीलपैकी थोडक्र्ात उत्तरे ललहा  ोणतेही दोन. 
अ) सामाजजक समसरे्ची र्लैिष््रे्. 
ब) जाती असमानतेची कारणे. 
क) हुांडर्ाची कारणे.  
ड) सथलाांतराचे पररणाम. 
 

16 

4.  खालीलपैकी थोडक्र्ात उत्तरे ललहा  ोणतेही दोन. 
अ) सामाजजक समसरे्ची सांकल्पना. 
ब) इतर मागासर्गीर्ाांच्र्ा समसर्ा. 
क) घरगुती हहांसेची कारणे. 
ड) िेतकऱर्ाांच्र्ा आत्महत्रे्ची कारणे. 
 

16 

5.  खालील सर्व प्रश्नाांची अनत सांक्षिप्त उत्तरे ललहा. 
अ) मुल्र्सांघर्ावचा अथव. 
ब) सामाजजक वर्घटनाचा अथव. 
क) जातीची व्र्ाख्र्ा. 
ड) जाती असमानतेचा अथव. 
इ) घटसफोटाचा अथव. 
फ) आांतरवपढर्ातील सांघर्ावचा अथव. 
ग) सथलाांतराचा अथव. 
ह) बेरोजगारीचे दोन परर‍िणाम. 

16 

  *********  
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 सुचनाएँ :- 1. सभी प्रश्न अननर्ार्व है। 
 2. सभी प्रश्नों के अांक समान है। 

 

    

1.  सामाजजक समसर्ाओकी पररभार्ा ककजजए। सामाजजक समसर्ाओांके कारणोकी चचाव ककजजए। 
 

16 

  अथवा  
  अनुसूचचत जाती की समसर्ाओांकी चचाव ककजजए। 

 
 

2.  र्धृ्दार्सथा का अथव सपष्ट ककजजए। र्धृ्दों की वर्लभन्न समसर्ाओांकी चचाव ककजजए। 
 

16 

  अथवा  
  बेरोजगारी क्र्ा है। बेरोजगारी के कारण सपष्ट ककजजए। 

 
 

3.  ननम्नललखखत सांक्षिप्त हटप्पणी ललखखए। क न्ही दो पर। 
अ) सामाजजक समसर्ाओांकी वर्िेर्ताए।ँ 
ब) जाती असमानताके कारण। 
क) दहेज के कारण। 
ड) सथलाांतरके पररणाम। 
 

16 

4.  ननम्नललखखत सांक्षिप्त हटप्पणी ललखखए क न्ही दो पर। 
अ) सामाजजक समसर्ाकी सांकल्पना। 
ब) इतर मागास र्गव की समसर्ाँए। 
क) घरेलु हहांसा के कारण। 
ड) ककसान के आत्महत्र्ा के कारण। 
 

16 

5.  ननम्नललखखत हर इकाईपर अनत सांक्षिप्त हटप्पणी ललखखए। 
अ) मुल्र्-सांघर्व का अथव। 
ब) सामाजजक वर्सांघटन का अथव। 
क) जाती की पररभार्ा। 
ड) जाती असमानता का अथव। 
इ) वर्र्ाह वर्च्छेद का अथव। 
फ) आांतरवपढी सांघर्व का अथव। 
ग) सथलाांतर का अथव। 
ह) बेरोजगारी के दो पररणाम। 

16 

  **********  
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